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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTs AR fRorrRd Tes o

{a) Why do countries engage in international
trade? : ;
CPTE. S8R qidere 6 wioe = ?

() Who said that, “International trade is
but a special case of inter-local or inter-
regional trade”?

‘AR A (R TR A SBESIRE
e GO Rom 9 17 I FAER @A (FiReT ?
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()

(d)

(e)

(9)

(h)
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(2)

What key assumption does the
Ricardian model make about labour
as a factor of production?

R wo Teom FRE Rt I
SfS4eImst & ?

What is factor endowment?
TeoAT pn 7

The demand for foreign exchange in a
country arises from import/export of
goods.

( Choose the correct answer )

(P 9IS W@ Y@ IR wr-sTeAR
S /IR wRT T =7 |

( &% Teach! A1f> Sfenear )
What is protectionism? )

HEFEM 59

State any one cause of fluctuation in
foreign exchange rate.

Qe R 277 *RedT cam R @ <6
PR o4 1

In which year was the Bretton Woods
system established?

@%ﬂmamﬁt@mwﬁmWﬁfiﬁ?
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(3)

(i) Give any one argument in favour of
fixed foreign exchange rate.

¥4 Caonre RivTa 2R3 A o1 3% e o

() State one objective of international
macroeconomic policy.

wRAgn THEAm weNfd @b Tt e
Xl

2. Answer the following questions : 2x5=10
wTe fa eppryRd Ted o

(a) What does the factor immobility refer in
regards to international trade?

RSN AER @S TR SeaneR
o ? | .
(p) What is Leontief paradox?
forafom Sharct 2
(c) Write two featt;res of Gold Standard.
G T J01 Caes ford |

(d) Write two arguments in favour of free .
trade.

E@Wﬂwﬁqﬁ;mﬂ*«ﬁm
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(e)

(4)

Write two causes of the Global Financial
Crisis, 2008.

xoov w7 R RS s1csa o1 el e

3. Answer any four of the following questions :
5x4=20

o PRI R e st Tew o

(a)

(b)

fc)

(d)
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State the importance of International
Economics as a branch of Economics.

weRER B e Reicet wrEeag AT

Gy forr |

What is tariff? Explain the different
types of tariff, 1+4=5
% 7 9 RfSw seremz e 94 |

What will happen to the Heckscher-
Ohlin theorem if factor intensity
reversal takes place? Explain.

Tt IRE Bger afe =, (@ (THE- o
SR R 232 31 w9y | ‘

Describe five differences between
international and internal trade.

WS@“WW@?{‘IWWWW.

I T4 |
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(S)

(e) Explain the different stages of the

product cycle theory of international
trade.

HRAEN AW Beom 5 wed Rfdw
oRITETIR TR F4 |

() What is financial globalization? Discuss

its benefits and risks. , 1+4=5
uffe R 2 TR R 9% Rerenz
HTCEAAT 47 |

4. Answer any four of the following questions :
10x4=40
© TER AR R i wiiRer T fora

(a) Explain Ricardian theory of comparative
cost advantage.

R o I R TGS I 3

(b) Explain the Heckscher-Ohlin theorem
of international trade through price .
criterion.

@ER-NFFR wRAgy AeR owh ¥
I wed (price criterion) aRI IRM 41 |

(c) Discuss the technological gap model of
international trade.

oEAEE  ER gyfelwm e wwhn
TS 41 |
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(6)

(d) Distinguish between fixed and flexible
exchange rates. Explain how the
equilibrium rate of exchange is
determined under flexible exchange
rate system. 4+6=10

R S T R 3 e e R
1 T RR T wme @ s
e a1 =, w0

(e} Analyze the effects of an import tariff
under partial equilibrium analysis.

Wﬁﬁaswwmwwwﬁmwm
Roeme 11 |

(! Explain the rationale of a protectionist
commercial policy in developing
countries.

ST (ppiRe ewER e MR
&g T 1 |

" (g) Explain the European Monetary System
and its role in stabilizing exchange rate.
How did it lead to the creation of
the Euro? Evaluate its Success and
challenges. 2+3+2+3=10

SRS - I TR
R B we T IR TR
T RO AT R Lot 2 2 sporey
SIF ASZFPIR T 541 | .
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(7))

(h) State the main features of multinational
enterprises. Explain the role of multi-
national enterprises in international
trade. 5+5=10

Rfe AfHPIR o FiErR TE
WG Aftere IgEiee aferz S
T 9

* %k %
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